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1 T-to-ADOOODOIP
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M1

_|_.VSS

0 1: cSswood

.SUBCKT CSWO ON OUT VL VM Gnd

Xinv1iF_1 ON ONB invi1F

M1 OUT ONB OUT VSS nch L=0.4u W=1.2u M=1
M2 N3 VL VSS VSS nch L=3u W=3u M=1

M3 OUT ON N2 VSS nch L=0.4u W=1.2u M=2
M4 Gnd ONB N2 VSS nch L=0.4u W=1.2u M=2
M5 Gnd ON Gnd VSS nch L=0.4u W=1.2u M=1
M6 N2 VM N3 VSS nch L=1u W=3u M=1
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éj VDD

VEL 2u WL Pu
P08 el | el

L=0.

0 2. SwopOOd

.ENDS

.SUBCKT SWOP IN ON OUT

XinviP_1 ON ONB inv1P

M1 OUT ONB IN VDD pch L=0.4u W=1.2u M=2
M2 IN ON IN VDD pch L=0.4u W=1.2u M=1
M3 OUT ON OUT VDD pch L=0.4u W=1.2u M=1
.ENDS

.SUBCKT TAC GATE IN INITB LV1 OUT RB VH2 VL2 VM1 VM2 Gnd
C1 N7 OUT 0.2pF

XCSWO_1 N10 N7 LV1 VM1 Gnd CSWO
XDFFP_1 IN GATE N3 N2 N9 DFFP
XinvlF_1 N6 N9 inviF

XinvlF_2 N4 N10 inviF

XNANDP_1 N3 GATE N4 NANDP

XNANDP_2 GATE INITB N6 NANDP

XNANDP_3 RB INITB N5 NANDP

XSHPR1_1 OUT N7 VM2 VH2 VL2 VM2 SHPR1
XSWOP_1 N7 N5 OUT SWOP

.ENDS

* Main circuit: TESTTAC
XBIAS_1 N27 VH2 VL2 VM2 Gnd BIAS
XBIAS_2 N1 VH1 VL1 VM1 Gnd BIAS

.op
.global VSS VDD VSS1 VDD1

.options reltol=1.e-7 abstol=1.e-14 numnd=1000 numnt=100 linearsolver=sparse

XPOWER_1 VDD VSS Gnd POWER
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XPOWER_2 VDD1 VSS1 Gnd POWER

i1 VDD N27 100uA

i2 VDD N1 2uA

v3 RB Gnd pulse(-1.65 1.65 1u 10n 10n 2u 4u)

v4 GATE Gnd pulse(-1.65 1.65 1.5u 1n 1n 1lu 4u)

v5 IN Gnd pulse(-1.65 1.65 1.6u 1n 1n 20n 4.2u)

v6 INIT Gnd pulse(-1.65 1.65 0.5u 1n 1n 100u 200u)

XTAC_1 GATE IN INIT VL1 AOUT RB VH2 VL2 VM1 VM2 Gnd TAC

.tran 1n 5u
.print tran v(GATE) v(AOUT) v(IN) v(RB) v(INIT)
* End of main circuit: TESTTAC
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2 A-to-DODODOO0OIP

Ato-DOODOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO
goo

Ato-DOOO0O0O0O0OFlash-ADOOOO0OO ADOOOOOOODOOOOOOODOOOOOOO
OOoOoOoOoOOOOO0O0O00D0 Ate-DOOODOIPOOOOOOO

VDD

WE3u
e I

o0-{ oS r g ]
é % [y S—] e

We3u
L=0 4u F_"g\l

05 CSw100

.SUBCKT CSW1 ON OUT VH VM Gnd

XinviP_1 ON ONB invi1P

M1 N1 VH VDD VDD pch L=3u W=3u M=1

M2 N10 VM N1 VDD pch L=1u W=3u M=1

M3 OUT ONB N10 VDD pch L=0.4u W=3u M=2
M4 Gnd ON N10 VDD pch L=0.4u W=3u M=2

M5 OUT ON OUT VDD pch L=0.4u W=3u M=1

M6 Gnd ONB Gnd VDD pch L=0.4u W=3u M=1
.ENDS

.SUBCKT RAMPD CAL CONV IN OUT SH TENB VH1 VH2 VL1 VM1 VM2 Gnd
Cl1 N9 N29 1pF
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O 7: COUNTB OO

XCSW1i_1 CONV N29 VH2 VM2 Gnd CSW1
XinviP_1 SH SHB inv1P

Xinv1i_1 TENB N35 invil

XSHPR1_1 N11 N11 N34 VH1 VL1 VM1 SHPR1
XSHPR1_2 0OUT N29 VM1 VH1 VL1 VM1 SHPR1
XSWOP_1 N11 SH N9 SWOP

XSWOP_2 N29 SH OUT SWOP

XSWOP_3 N9 SHB OUT SWOP

XSWO_1 CAL TENB N34 SWO

XSW0_2 IN N35 N34 SWO

.ENDS

.SUBCKT COUNTB CK EIN EOUT QO Q1 Q2 Q3 RST
X1 EIN N1 invilP
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X2 N1 N69 inv4P
X5 CK N7 invi1P

X6 N7 N89 inv4P
X7 RST N84 inv4P

X13
X15
X17
X24
X25
X26
X27

XAND5P_1 QO Q1 Q2 Q3 N69 EQUT AND5SP

QO N69 N67 ANDP

Q0 Q1 N69 N66 AND3P

Q0 Q1 Q2 N69 N74 AND4P

N89 N73 N69 QO N73 N84 EDFFP
N89 N79 N67 Q1 N79 N84 EDFFP
N89 N85 N66 Q2 N85 N84 EDFFP
N89 N91 N74 Q3 N91 N84 EDFFP

.ENDS
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* Main circuit: TESTRAMPD

XANDP_1 DOUT CONV N21 ANDP

XBIAS_1 N1 VH1 VL1 VM1 Gnd BIAS

XBIAS_2 N2 VH2 VL2 VM2 Gnd BIAS

XBIAS_3 N11 VH3 VL3 VM3 Gnd BIAS

XCOUNTB_1 CK N21 N12 QO Q1 Q2 Q3 SH COUNTB
XCOUNTB_2 CK N12 N14 Q4 Q5 Q6 Q7 SH COUNTB

.op

XDFFP_1 CK N10 CONV N13 RB DFFP

XDTA2R_1 N15 AOUT N9 N8 Gnd VH3 VL3 DTA2R
XDTA2R_2 N9 N8 N7 N6 Gnd VH3 VL3 DTA2R

XDTA2R_3 N7 N6 N5 N3 Gnd VH3 VL3 DTA2R

XDTA2R_4 N5 N3 MONO MON1 Gnd VH3 VL3 DTA2R
.global VSS VDD VSS1 VDD1

XinviP_1 RB SH invi1P

XLVR_1 MONO MON1 VL3 VM3 DOUT LVR

.options reltol=1.e-7 abstol=1.e-14 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XPOWER_2 VDD1 VSS1 Gnd POWER

XRAMPD_1 Gnd CONV N4 AQUT SH TL VH1 VH2 VL1 VM1 VM2 Gnd RAMPD
il VDD N1 100uA

i2 VDD N2 0.5uA

i3 VDD N11 100uA

v4 N4 Gnd 200m

v5 N15 Gnd -10m

v6é RB Gnd pulse(-1.65 1.65 1u 10n 10n 100u 200u)
v7 N10 Gnd pulse(-1.65 1.65 2u 10n 10n 100u 200u)
v8 CK Gnd pulse(-1.65 1.65 10n 1n 1n 11.5n 25n)
XTHTL_1 TH TL THTL

.tran 10n 20u

.print tran v(MON1) v(MONO) v(RB) v(DONE)

+ v(Q0) v(Q1) v(Q2) v(Q3) v(Q4) v(Q5) v(Q6) v(Q7)
+ v(SH) v(AOUT) v(CONV) v(DOUT)

* End of main circuit: TESTRAMPD
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* Main circuit: TESTQTC
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XBIAS_1 N6 VH VL VM Gnd BIAS

XBIAS_2 N18 N5 N19 N8 Gnd BIAS

XBIAS_3 N9 N15 N12 N10 Gnd BIAS

XBIAS_4 N13 VH3 VL3 VM3 Gnd BIAS

C1 N16 AOUT 0.1p

C2 TP N16 0.1p

.op

XDTA2R_1 N17 AOUT N14 N7 Gnd VH3 VL3 DTA2R
XDTA2R_2 N14 N7 N4 N3 Gnd VH3 VL3 DTA2R
XDTA2R_3 N4 N3 N2 N1 Gnd VH3 VL3 DTA2R
XDTA2R_4 N2 N1 MONO MON1 Gnd VH3 VL3 DTA2R
XFB4_1 N5 AQOUT N16 N19 N12 N8 FB4

.global VSS VDD VSS1 VDD1

XLVR_1 MONO MON1 VL3 VM3 DOUT LVR

.options reltol=1.e-10 abstol=1.e-20 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XPOWER_2 VDD1 VSS1 Gnd POWER

XprC_1 N16 AOUT VH VL VM prC

i3 VDD N6 100uA

i4 VDD N18 5n

i5 VDD N9 7u

i6 VDD N13 100uA

v7 N17 Gnd 20m

v8 TP Gnd pulse(0 -500m 100u 10n 10n 300u 350u)
.tran 10n 250u

.print tran v(TP) v(AQUT) v(DOUT)

* End of main circuit: TESTQTC
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4 Q-to-QOODODOOIP

FB4OOOOOOOOOOOOOOOOOOOOIPOOOOOOOO 12000FB4CO0O0O0O0O
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Vel 2u WL 2 WL 2u WL 2u
1=0.4u | | 1=0.4u 1=0.4u | 1:0.4u
"ﬂ“ﬂ VSS WL | MSU'E—‘

O 10: FB4C OO

.SUBCKT FB4C QOUT VH VIN1 VIN2 VLS VM Gnd
M1 VDD VH N7 VDD pch L=3u W=3.u M=1

M2 N7 VM VIN2 VDD pch L=1u W=3.u M=1

M3 VIN2 N36 VSS VSS nch L=0.4u W=1.2u M=1
M4 N36 N36 VSS VSS nch L=0.4u W=1.2u M=1
M5 TP2 VIN1 N36 TP2 pch L=0.4u W=3.u M=1
M6 VDD N33 TP2 VSS nch L=0.4u W=3u M=1

M7 VDD N33 TP3 VSS nch L=0.4u W=3u M=50
M8 VDD VH N53 VDD pch L=3u W=3.u M=50

M9 N53 VM QOUT VDD pch L=1u W=3.u M=50
C10 N46 QOUT 0.625pF

C11 Gnd N33 1pF

.ic v(TP3,TP2)=0

M12 N2 N2 VSS VSS nch L=0.4u W=1.2u M=50
M13 QOUT N2 VSS VSS nch L=0.4u W=1.2u M=50
M14 VDD VIN1 N46 VSS nch L=0.4u W=3u M=1
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O 11: FB4D OO

M15 N46 VLS VSS VSS nch L=3u W=3u M=1

M16 N33 N33 TP1 VSS nch L=0.4u W=3u M=1
M17 TP1 Gnd Gnd TP1 pch L=0.4u W=3.u M=1
M18 TP3 VIN1 N2 TP3 pch L=0.4u W=3.u M=50
M19 VDD VH N33 VDD pch L=3u W=3.u M=1
.ENDS

.SUBCKT FB4D QOUT VH VIN1 VIN2 VL VLS VM

M1
M2
M3
M4
M5
M6
M7
M8
C9

VDD VH N7 VDD pch L=3u W=3.u M=1

N7 VM VIN2 VDD pch L=1u W=3.u M=1
VIN2 N21 N15 VIN2 pch L=0.4u W=3.u M=1

N15
N21
VP1
VDD
VP1
VP2

VL VSS VSS nch L=3u W=3u M=1
VL VSS VSS nch L=3u W=3u M=1

N21 N21 VP1 pch L=0.4u W=3.u M=1
VIN1 VP1 VSS nch L=0.4u W=3u M=1
VLS VSS VSS nch L=3u W=3u M=1

QOUT 0.625pF
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.ic
M10
M11
M12
M13
M14
M15
M16
M17

v(VIN2,VP1)=0 v(VP1,VP2)=0

VP2 VLS VSS VSS nch L=3u W=3u M=1

VDD VIN1 VP2 VSS nch L=0.4u W=3u M=1
N1 VL VSS VSS nch L=3u W=3u M=50

N2 VL VSS VSS nch L=3u W=3u M=50

VP2 N1 N1 VP2 pch L=0.4u W=3.u M=50
N8 VM QOUT VDD pch L=1u W=3.u M=50
VDD VH N8 VDD pch L=3u W=3.u M=50
QOUT N1 N2 QOUT pch L=0.4u W=3.u M=50

.ENDS
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* Main circuit: TESTQ2Q
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XBIAS_1 N1 VH VL VM Gnd BIAS

XBIAS_2 N4 VH2 N11 VM2 Gnd BIAS

XBIAS_3 N9 N18 N5 N16 Gnd BIAS

XBIAS_4 N10 N7 N8 N2 Gnd BIAS

C1 N6 AQUT 0.01p

C2 TP N6 0.01p

C3 Gnd N6 0.5p

C4 N3 AOUT2 0.5p

C5 Gnd N3 1p

.op

XFB4C_1 N13 VH2 AQUT N6 N5 VM2 Gnd FB4C
.global VSS VDD

.options reltol=1.e-7 abstol=1.e-14 numnd=1000
XPOWER_1 VDD VSS Gnd POWER

XprD_1 N6 AOUT VH VL VM prD

XprD_2 N3 AQUT2 VH VL VM prD

XRF2_1 N3 N7 AOUT2 Gnd N8 N2 RF2

i6 VDD N1 10uA

i7 VDD N4 5n

i8 VDD N9 10u

i9 VDD N10 10n

vamp N13 N3 O.

v10 TP Gnd pulse(0 -500m 100u 10n 10n 300u 350u)
.tran 10n 250u

.print tran v(AOUT2) i(vamp) v(TP) v(AQUT)
* End of main circuit: TESTQ2Q
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